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Q1 (a)
(b)
Q2 (a)
(b)
Q3 (3
Q4 (a)
(b)

Solve equation 2x + y = 8 and x+2y = 1 using Gauss Seidel Method.

(15 marks)
2
Examine the slope of the surface given by f(x,y) = — x?— y? + 2—:- at the
point (1/2, 1, 2) in the x-direction and y-direction.
(10 marks)

Evaluate the Lagrange Interpolating Polynomial for data (5,12), (6,13), (7,14)
and (8,15). Hence, evaluate f (10).
(15 marks)

Use cylindrical coordinates to calculate [ff, xydV , if G is a cylinder

¥ +y?«land 0 Kz < 1

(10 marks)
A periodic function f (x) is defined by
Br)=% =l=xx<i
and
f(x)=f(x+2)
1) Sketch the graph of the function over—3 < x < 3
(6 marks)
i) Examine the Fourier coefficients corresponding to the function.
(10 marks)
1) Solve the corresponding Fourier series.
(9marks)

Identify nodal displacements, stresses in each materials and the reaction forces
as shown in APPENDIX A.1.

(15 marks)

Given the function f(x) = sin 2x + x* — 3. Solve the root of f(x) by using Newton-
Raphson method.

(10 marks)
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Q5

(a)

(@)

Solve the following differential equation

dy ay
x——3— (y+a)

which satisfies the initial condition y = 0 when x = 3.

(15 marks)

Solve the general solution of the following equation.
dy
Gt =2

(10 marks)

- END OF QUESTIONS -
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APPENDIX A
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Aluminum Steel
A, = 2400 mm? A, = 600 mm?
E, =70 X 10° N/m? E, =200 X 10° N/m?

Figure APPENDIX A.1

TERBUKA

4 CONFIDENTIAL




